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The	variant	and transportation operating cost per	unit takes into consideration the
different	transportation costs for the variant	models (2	seater and 4	seater).
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In the following table the profit per unit and gross profit ratio for each variant for
each consumer country is presented.

By analyzing the profitability of the different variants, it is possible to deduce the
following aspects. In general, goods sold locally can bring more profit. The table
shows that goods sold to North America, Europe, and East Asia have the highest per
unit gross margin and gross profit ratios. Also, products sold in Middle/South America
and Middle East show that occasionally negative profits (red cells). A possible reason
for this is the lower demand in these regions comparatively to the other markets. Due
to the lower demand there is no local supply and the transportation cost from other
regions is relatively high. Furthermore, the consumer prices are lower in these
regions; possibly because they are considered to be developing countries.

Lastly, red cells have negative gross profit while green cells have per unit gross margin
> 16%.



In this slide, the profitability of the product variants has been summed up and can be
compared to the variants amongst each other. One particular relation that can be
perceived is that the standard variants (green) have higher gross profit and higher
gross profit rate in comparison to luxury variants (red).

The overall gross profit rate for the electric company considering the ideal production
network is around 11%. This is considerably less that the usual gross profit rate for
automotive brands that sell conventional cars (~28%). However, by comparing the
gross margin ratio of our startup with an established electric car manufacturer, such
as Tesla, it can be seen that the lower gross margins are currently typical for electric
car companies expanding globally. This can be due to the higher material costs of
electric cars that come from the expensive battery component.

However, it also can be assumed that these margins will improve with increasing
scaling effects on the battery production, which leads to reduced battery costs. Aside
from the material costs, the production site, production overhead, manufacturing
and transportation should be similar among conventional and electric cars.

Reference for	automobile	profit	rate:	
http://www.autonews.com/article/20170417000100/RETAIL06/304179922
Tesla	profit	rate:	https://ycharts.com/companies/TSLA/gross_profit_margin
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In	order	to	align	the	variants	within	the	BCG-portfolio matrix,	the	global	market	share	
per	variant	and	subsequently	the	relative	market	share	per	variant	needs	to	
computed.	
The	global	market	share	can	be	computed	in	the	following	way:	

𝐺𝑙𝑜𝑏𝑎𝑙	𝑚𝑎𝑟𝑘𝑒𝑡	𝑆ℎ𝑎𝑟𝑒 = /012345	67869:63	51;65	<2	:=6	>10?6:
@;A/1;	B10?6:	CA;DB6

	

With	that, the	𝑅𝑒𝑙𝑎𝑡𝑖𝑣𝑒	𝑚𝑎𝑟𝑘𝑒𝑡	𝑆ℎ𝑎𝑟𝑒 = /012345	H;A/1;	B10?6:	5=106
B10?6:	5=106	AI	:=6	H061:65:	9AB86:<:A0

can	
be	calculated.
This	table	shows that	for	luxury	variants	the	global	market	share	is	significantly	lower	
than for	the	standard	variants.	This	seems	intuitive,	because	the	demand	for	luxury	
cars	is	usually	lower.
Furthermore it can be noticed that for the luxury variants the relative market share of
our startup is considerably lower that the one of the greatest competitor. This means,
that it is hard for our startup to compete in the market of luxury variants due to a
stronger competition. This is reasonable, since brand matters when it comes to high-
end products. Essentially, people would be less likely to choose high-class products
from a startup like us. The greatest competitor may be a company such as Mercedes-
Benz.
However, it can also be seen that small electric vehicle variants have a comparatively
high market growth rate. Note that in the next slide we are going to analyze the
variant the show the best opportunities for our startup to be successful.



The BCG-matrix (product portfolio matrix), helps corporations analyze their product
lines and allocate resources strategically. In order to be competitive in the market, it
is important to focus on variants with a good market growth and for companies that
possess a significant relative market share. Most of the given variants are question
marks. Question marks are characterized to be operating with a low market share in a
high-growth market. They are a starting point for most businesses and have a
potential to gain market share and become stars. Finding the successful question
marks is a difficult task, because they could easily be converted into dogs. Variants 1
and 5 can be interpreted as question marks which are currently converting into stars.
Whereas variants 3 and 7 can be considered to be cash cows that are worth
exploiting. Thus, the startup should exploit the variants 3 and 7 (reduce costs,
modularization, outsourcing) and explore how to improve the relative market share
on the variants 1 and 5.
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